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Getting Meaning From Context
3o AN culaatil i aa aladiia) WiCes Ji cclalSl) aran Alaa 48 jaal dalay Uad a4 5u0a) Aadlly ) &S Lasic
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Examples :There is a drawback, a disadvantage, to that idea.
(Drawback means disadvantage.)

Examples

In a number of countries, education is both compulsory -required- and  universal,
available to everyone, at least in primary school (elementary school)

Compulsory= Required

Universal= Available to everyone

Primary= Elementary

Public schools are all both free and egalitarian; all students are considered equal and learn
the same the same material.
Egalitarian = all students are considered equal and learn the same the same material

A ddaa 33352 gall cilalsl] JNA (o Al ggaa AalS sina 4B jaa (S
Example
A school system in one country is not identical to the system in any other country. It
cannot be
exactly the same because each culture is different
_gﬁiﬂjdéaw&glhawgha\gdéwa\ eLB.'d\
AAlA, CBLERY JS Y Lalall Al ) S0 o)) OSan ¥
(in the second sentence, you see the meaning of identical = exactly the same)

ki Alaad) (gina &t 0oy
Examples
The educational system is a mirror that reflects the culture.
ABLERL s ) o] jal) () g8y aslail) aldis
(you probably know the word mirror, so you can guess that reflects means shows.)
U 9) ouSa reflect e o Lihia G ad o g alaad) 351 8 JNA g o] MIRROR



The rekotal is flying in the sky. The underlined word logically means

- acamel

- a kind of birds

- a building

- An apple
. Lihia rekotal 4alS iz 4d ma ciglaa (oY) cunl gl i) (e 52 9) (Blead) )

Cllad Bl Lasie Lihied ¢ placd) A iy rekotal J) ¢ Badt alaadl U i ()

A 4l rekotal e Ao il USey Lithaiad ¢ plai Y daldill g Auall g Jadd) of Baadl

s e AliaY) plae) (Gaud cilalS Badl allal) ol A
The words for example, forinstance, suchas, like, are/is, andamong them :
Example
Almost four billion people will be living in cities in developing countries such as India and
Nigeria.
Developing Countries : not rich country
) gl g Lsasd) ALY JMA (ad (developing country ) 4alS ixe 4b ma & 5 glad) JUal) A
4ali S8 ol — 4338 & J9 (developing country ) 4alSh daa ol Guadil) adaiod

Sometimes another word or words in another sentence or sentence part
has the opposite meaning from a new vocabulary item

Example
In some cities, instead of worsening, urban life is getting much better
Worsening = much better
(S Aaii 4iaal) BLad) ¢ gudl slat¥) Cha Yy el iarg A s Jgl Balad) Ul B
Jadl better 4alS Lgwse g £ WOIse (s 33 sala worsening 4alsl)

g g gl Lalina Ad jaa 3l yal) AalSl iy a5 an 18
Fia Ly i g AalSl) (pa Jaa JU Jaad) gl clalSl) (lany aniis Bale g

is/are means/mean 2
is/are called P
what this means is 2 1
is/are known as -
consist of G (9SS
is/are defined as P
refer to o) i
is/are described as S g
Considered as il

Example (1) : Someone who explores and studies caves is known as a spelunker

a spelunker = someone who explores and studies caves

3l pal) A<l iy s ) L e S8 js known as Wdd 35 4558 s a spelunker | 4als 48 jaa & 53 gilad) JUa) 3
someone who explores and studies caves. $2 Wliza



Example (2): Sales literature means printed matters that contain information on the goods

Sales literature = printed matters that contain information on the goods
9 Ly Lad as Walina g means 4alS baxy a5 4368 5 Sales literature 4als 48 ma 3 3 gbaad) JUal) A
Lk L iy s

Example(3): The part at the back of the car used for holding luggage is called the car boot
in United Kingdom, whereas Americans would refer to this as the car’s trunk

car boot= The part at the back of the car used for holding luggage

Ll Lal iy o gl ay 13¢5 callled as ks Wl a9 A 4358 car boot 4alsl 48 pa 3y 55 1 (bed) JUal) 8

Example: The encyclopedia defines astrology as “the ancient art or science of
divining the fate and future of human beings from indications given by the
positions of stars and other heavenly bodies.”

astrology = the ancient art or science of divining the fate and future of human
beings from indications given by the positions of stars and other heavenly
bodies.”

Claldl) muda gi o ASLua SaleY Alan o) 4alS aladinly Giilsl) a g8y o)) (Saall e
S ) o Ja il Lgld Lgaddiiog Sale g ¢ da ggda p Lgl aliag )
or
that is to say
in other words
i.e. g
or that is

Example (1): downtown shopping area is now a pedestrian zone-in other words,
an area for walkers only
A pedestrian zone = an area for walkers only
5ok Ly i3 435Sy (@ pedestrian zone ), 4alsl 4djaa & 5 Gad) JGal)
(an area for walkers only ).4ékua i) 3w 431 A 13¢3(in other words )

Example (2) :The surface of Africa consists mainly of plateaus, or large flat areas,

although these occur at different levels

plateaus = large flat areas

delua sils) slasl Ul addiud Al &g or Wax cia,9 4iSy plateaus AalSh) 43 e a0 Galaad) JLLW) o
large flat areas

Example (1): People spend hours in gridlock —that is, traffic so horrible that it

simply doesn’t move — when they commute

Gridlock = traffic so horrible

21 133 (that is ) 5uke W a5 4sSy (gridlock ) , bad Lgias ) 4alS) 48 jaa a5 bad) JE) B
(traffic so horrible ) .59 W 48lua ale) 3w 4l



Example: Under his leadership, city planners established priorities — in other words, a list
of what was most important.

Priorities = a list of what was most important.
Sl cilacs pasle P12V e 19 A — ) Vdado AtiaY) 4

O JoY) s ) Ungd) ¢ sSi s (Getting meaning from context) §.sase Lsgs) 8 5% iy g
Aaldl) 3 palaal) JalS aa Al 3 palaal) e J¥) £ 5l g Jg¥) B palall

S5V & s sally e il g bl o il liald Al gies 7 e a2 12 b
Getting meaning from context

alan (B0 AalS Jme lll LIS Yigu VY 2ae bl JLEAY) 8 )5
CJ'“J‘@;‘E‘“\ q Jd.cd;.)eﬁi.m

CLiBliall ¢ guiaga 8 CllaY) = kg Leday | sostil Aanf A dae oI il

@ @ iy g ) st gl ALY -l et ) auy s

sagacity = L.sLSY s aatheir sagacity , = 0sfs coall Olallaleall daa i 1 8, gl A
Jua¥l (2 adall (7 aaSall (o asill axe (i
aaSall (e 3353k Wil (SAQACILY) sie (o Capaill aukiin ¢ LS agily 4l dAlaal) NS (e

clne s fatalities oaidl s s bt alaall a5V iy gl b
Opaode) 3 e (@ -; O (]

35E Al ¢ 4 () Al alan)) i ol Fatalities it it o biiia USay (s 4alS) 46 s A (o
e 0980 (San | G ¢ Ul Lgh) il

dasaal) (A @ o) il g (e galdll Caa U


http://up.arab-x.com/

5 138, padl allal) SLLS (S sl - Al S (Y4
,add 3 S nla Aol

) T3) & disadl 3
5 salls ax yia J) sudl
Dol sV el el (¢ CHEBIBEIE . o (= oe S
JENENS
Sy @l g ¢ el sale] dllia ) S 4il i that S o (A sV 5 walaall & Laal
sk Wb equivalent 4alsl) i agd

30) In Britch Columbia, where, since 1990, thirteen rainforest valleys have
been clearcut. 142 species of salmon have already become extinct.”
what does "clearcut” mean?
A-a few trees have been cut down
B- many trees have been cut down
C-all the trees have been cut down
D- none of the trees have beeen cut down

Yo sl 8
SaeY) e e Lals VY ¢ 140l dia dlna gl S (s 8 1 e daa i
clearcut
Az e Ciasal ) gallall (e d1uad] 42
Cundad laiY) (e DESH (G Lgadad o ladY) Gians (|

G oS 230 () 2 5 AUl aleal) ilgadad o3 jladil a5 Y (2
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"Logging, however, provides jobs, profits, taxes for the government and cheap
products of all kinds for consumers, so the government is reluctant to restrict or
control it.™
what does "reluctant”™ mean?
A) doesn't want to
B) is not allowed to
C) would like to
D) none is true

3115
1) gl e 5

fasSall I il puall g LW eciila gl Jig ¢ Ja A e i) s

Agd WSa | S S reluctant 4e sSall ¢l | <leill & dand I claniall g
RENENR FEN JRENPU I O I oy (o L 7 pan e
ixa (ki (Ml Hlad¥) adad dilae (e (pandiie (Slgiuall g 40 5Sal) Ui

A aSaT ) Lo siaa JladY) adad J=ad o) 2 53 Y Wilreluctant

"According to its proponents, four times as much paper can be produced from
land using hemp rather than trees.”
what does "proponents™ mean?
A) people who are against something.
b) people who support something
c) people in charge of something
d) none of the above is true

32:J) 5l

(e Aaalill (S 35l aas (e & e A )l proponents , G sl 1 J) gl das i
DY) (e Yoy G alasiuly ()Y

e ik a0y ) alaY) (i e o 2 ) Gl
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when Sara was sick, her voice was almost inaudible. We couldn't hear what
she was trying to say clearly.

a) very loud, easy to hear.
b) very soft, hard to hear

C) very strange, uncommon
d) very shy, introverted

41d) 5l
i€ b panst ol adainsd Al jnaudible |, Q8L OIS L sa ¢ Ay jo B e ilS Laaie
Zan s o) Jslas

s 2 N 7.5 o) Jeosse 3

S ey ¢ Al maca o Al Aleall 3 Jaa Jad (3
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o) 158 (0 58S adaa e (51 48 1305 (V) A )

what does "alternative way"™ means?

usual way (i
unusual way (<=
normal way (z
unsafe way (=

il 3 ) gpall e 0 ) ¢ A.ada'éﬂ@julj alternative way , (== by YV g
O Y 3l Y Ay ol oAl ady sk e Al Gaill €3 )bl 48 iy 5 A
Gllal) Glatia

unusual ways¥) & o ol aas Glladd o Ll

Gl 3y L 4 ¥l
all(z LY Al JS e i Gaallall dusla®Y) e Y1 ¢ sl a5

¢ d\“}u

A 8 o ol a) Y cpeliing gy ab puala ooy o g Cpindauddl] / ates i
decidedslill ileall & determine iz 25

decide = &Y make a decision isasall o o AlaYE Ll s Wl
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AN £ g gall gl 3 pualaall
Aaall Gl e ral) o G ail) A4S doadi) i Lida i J oY1 Gual) 3

AU B AN Cilal i e dde A g Al g oY) B palaall (e A5 L JaSiade Ua
(Main idea): i 3 Sil) alay) 48y yh] -

Gadl?2 - skimming

saal) 3 13l e ag83 - pronoun reference

Jilal) ladl) aladiul4 - Understanding ltalics

Ol o cilblinall a¢85 - Understanding Contrast

Baaaa daglaa (o Giadl gl Sl gl wall6 - Scanning

(Main idea): dswwi ) 3 Sall slag) 48, a1 -

DA e SRAI p pal ¢ AN Lag g J9¥) sl B AadLid) B KAl ) el ¢ 588 JS (e I g¥) Adand) S ) el
L BlEil aa e iyl g daladl)

@vm IDENTIFY || Whatis the topic of the passage? \
THE QUESTION What is the subject of the passage?
What is the main idea of the passage?

What is the author’s main point in the passage?
With what is the author primarily concerned?
Which of the following would be the best title?

WHERETO FIND The answer to this type of question can generally be determined by
THE ANSWER looking at the first sentence of each paragraph.
HOW TO ANSWER I. Read the first line of each paragraph.
THE QUESTION 2. Look for a common theme or idea in the first lines.
3. Pass your eyes quickly over the rest of the passage to check that you
have really found the topic sentence(s).

4. Eliminate any definitely wrong answers and choose the best answer
from the remaining choices.

Look for the main idea of this paragraph
The life of a doctor is not easy. Martin works a very long day, and he is very busy

with a variety of activities. He spends a lot of time with people, but he also
spends a lot of time working onreports in his office

¢ Al S g Ales A4S 7l Gl af ¢ Adg G [ giSAl) Bla o) (e ciaad 1 oY) Alaadl ¢ (lad) JU B
The life of a doctor is not easy.As¥) daall A £ g gall i M) 3 Silld Auilly g
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2- skimming &ayd)

Skimming is used to quickly identify the main ideas of a text

L 11 3 881 aaal £ gula gall Aoy pou B 8 DA (e uad

main idea s topic ¢ @/

Topic :the topic is just a word or noun phrase — a few words. It is not a sentence
Al Gl ClalS gy dansl Alan g) AalS (e (580 § g gall O (a0

Main idea: The main ideais in a sentence or two and can be found at the
beginning, middle, or end of a paragraph.

Al o) pdalal) daug A ) dndalll Aoy B (985 () (S Cilann o) Alan (985 A ) B SAY)

examplel

1Do you have a favorite season? 2Winter, fall, and spring have many advantages.
3However, summertime is my favorite season because it offers the tranquility of
the beach as well as the exhilaration of outdoor sports. 4First, sitting on the
other side of a sand dune, hidden by sea oats and sedge, | like looking at the
Atlantic Ocean, scanning for dolphins and pelicans. 5Looking at something
larger than | am gives me a sense of awe and gratitude and provides a backdrop
for some deep musings. 6Second, summertime provides me with the chance to
go sailing, surfing, and hiking along the shore. 7The exercise enhances my
sense of well being and creates a feeling of optimism

The topic of the paragraph is
a. sailing and surfing.
b. summertime.
c. seasons at the beach.
d. ways to develop optimism.
The main idea of the paragraph is
a. sentence 1. b. sentence 2. c. sentence 3. d. sentence 4.

The topic :summertime
The main idea :summertime is my favorite season because it offers the
tranquility of the beach as well as the exhilaration of outdoor sports

42 ¥) ‘:33.453\ 33y eléf': ¢ (A Y Adaad) (Al J gusd Juadl e iy £ gua gl |y ¢ ‘_,ams éhm\ ot
R 4aililly Ao Adaalld summertime . (A Al § 9 gall s 1) 8 S8l (e Giaald ad ¢ (4l Alaall)
).oliy) Jagd £ pagall JAda

example2

Why | Want to Learn English(1) There are three reasons why | want to learn
English. (2) One reason is that English has become an international language.(3)
It is now used by most international companies, including the company where |
work, for business communication. (4) Another reason why | want to learn
English is so that | can travel to English-speaking countries. (5) The United
States, England, Australia and many other countries all use English as their
primary language. (6) Finally, | want to learn English because | plan to move to
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the U.S. in the future. (7) | will become a manager for my company soon. (8) For
all these reasons, | am very excited about learning English.

Identify the topic sentence: Why | Want to Learn English

Aindy A Glaad) 3 e LS g 2l ¢ 4 lad) alaii o & 3 13 ce JIsed) OIS A W) Alaad) B lad) )
.5 all A 411 388N & J6Y) Alaadld L g cAlaadly Jfpeal! Alals AaLl) alect

Identify the conclusion: For all these reasons, | am very excited about learning
English.

Siane B 88 ALia) IR () g g dagal) gl sall (1 (the main idea) A 588N £ s s
£zl 1 o

saal) 3 g Nila o agd

3- understanding pronoun reference

Al () caa QUSY £ g 3 oy (e Ao maidal) Gl G Bed AN £ L] cang UM ¢ ald) (lSa 3AL Ladly ppaiall
Al B LAY o ‘é..ﬁ\ peDd liall yradal)

Sl Ble) ya Cpa Ay SN

1- Agree in number

spaialld aax (S 1) Ll JﬂML@iM\Q@JﬂW\J\")&‘SQ T Al ad) graall (38190 () i
el agn

If the pronoun takes the place of a singular noun, you have to use a singular
pronoun

Jlia
If a student parks a car on campus, he or she has to buy a parking sticker

Al g gaddd 3 )ds he or she 2 4sStudent

oo ab>Mo

a person -.neither- .each- ;some one - .no body:-any one- :any body -.Every body

Are singular pronouns
03,80 plowo A5Ug 85 20 WlalSJ] 04D guo>

Everybody ought to do his or her best. NOT: their best
Neither of the girls brought her umbrella. NOT: their umbrellas

2- Agree in person: a3 g

they - he — 5« Jg¥) gaddll a5 | g AN padlll 3 gai you b« aud) £ 5 g (31155 O i ilaal
il padldl s pishe — it

rJlia

When a person comes to class, he or she should have home work ready

488 g3 A g person s 295 he or she La
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Jsdi O S D8

When a person comes to class, (you) should have home work ready

he or sheuasiial) ¢ dwdl (addl) 3315 Y padall 4y Akld Aaa ol

example

Choose the Correct Pronoun

-Each of the girls makes (her, their) own clothes

-The jury finally made (its, their) decision

-It often seems that television programmers are not concerned with (its,
their)viewers

-Both Tim and Tony write (his, their) mothers twice a week from camp

.Jild) bdl) aladiud - 4- Understanding ltalics
Ol (2 el |t’s used

1. Emphasis st
Example:Overcrowding is a huge problem in that city.

2. A foreign word in an English sentence 4uall il cilall)
Example: In open areas in Seoul, Kaenari blooms everywhere in the spring

SRl gl cilablival) agh

5 - Understanding Contrast
You use contrast clauses when you want to make two statements, one of which
contrasts with the other or makes it appear unexpected or surprising. Some
contrast clauses — called concessive clauses — are introduced by conjunctions
such as although, even though or while
Adalia gl Aadgia & 3 guas AN dusSlaa gl Balias Laada) (pilen Jand Ladie sl gf cplidl) coplud addind
e bl g pag LIS fagi
although, even though or while

rJUa

Although Mrs. Sims had lived in Hong Kong all her life, she knew very little
Cantonese. ‘

). gSl) agriad (e dan JABN) 8 o A clgtla Jlgh AgS g (2 Clle Sasw Bawd) () (e aS ) e

:Don’t use but in sentences beginning with although, even though or while. 4.5
Hereis a
Lbla ¢ oS Adaal) oY Calaadl Cig jan T AN Jaadl & but asdied ¥

You will sometimes see the word albeit used in formal English. Albeit can come
before an adjective, adverb, or adverbial phrase

Alaal) ol iyl dball 3 Al o oSan A Salady) Apan ) A3l 8 Asadioiadl glbeit AalS Lbal saLis g
A8 )

Example
Jayne participated in the charity walk, albeit rather reluctantly
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6 - Scanning. 33 dagha g dad) o Gl gl gl

G sl A gl aB S dana fod 8 lag pe Ciagl) il Lad) cdaglaa o iagll adalal) 8 Al IS Be) B dile Gl
M‘J‘ £ £ .

Lagas dskadll ) jlaill g adaila JS 403 185 0 aa skimming J) of skimming J) cms e Gl

Gt (A 8 G dilscanning ) o Ll dewi 1) 3 sdll yaat

1 Jlia

Every second, 1 hectare of the world's rainforest is destroyed. That's equivalent
to two football fields. An area the size of New York City is lost every day. In a
year, that adds up to 31 million hectares -- more than the land area of Poland.
This alarming rate of destruction has serious consequences for the environment;
scientists estimate, for example, that 137 species of plant, insect or animal
become extinct every day due to logging. In British Columbia, where, since 1990,
thirteen rainforest valleys have been clearcut, 142 species of salmon have
already become extinct, and the habitats of grizzly bears, wolves and many other
creatures are threatened. Logging, however, provides jobs, profits, taxes for the
government and cheap products of all kinds for consumers, so the government
is reluctant to restrict or control it.

1.How many species of salmon have become extinct in BC?

a.27b.31c.137d. 142

Much of Canada's forestry production goes towards making pulp and paper.
According to the Canadian Pulp and Paper Association, Canada supplies 34% of
the world's wood pulp and 49% of its newsprint paper. If these paper products
could be produced in some other way, Canadian forests could be preserved.
Recently, a possible alternative way of producing paper has been suggested by
agriculturalists and environmentalists: a plant called hemp.

2.How much of the world's newsprint paper is supplied by Canada?
a.31%b.49% c. 34% d. 19%

However, there is a problem: hemp is illegal in many countries of the world. This
plant, so useful for fibre, rope, oil, fuel and textiles, is a species of cannabis,
related to the plant from which marijuana is produced. In the late 1930s, a
movement to ban the drug marijuana began to gather force, resulting in the
eventual banning of the cultivation not only of the plant used to produce the
drug, but also of the commercial fibre-producing hemp plant. Although both
George Washington and Thomas Jefferson grew hemp in large quantities on
their own land, any American growing the plant today would soon find himself in
prison -- despite the fact that marijuana cannot be produced from the hemp plant,
since it contains in the drug).
What drug can be obtained from a relative of hemp?
a. Cocaine b. heroin c. Amphetamine d. marijuana
¢ s sinally 3 ga ga b dudlia) Alin) Lgule AJJJ‘;.'ALAS\?JNJQSS\QAQAJj‘éﬂ\QA@M‘Mﬁﬂ\h.}h
& eLa ¢ ¢ Jualilly 7 5l 13 b AN aadal sall (8 @y Al JLEAY) Alia) 43S 7 sy il 2yl 8 glu) M
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JL.\'.'\SYL.I Sy g:\.“ daadl) Lﬁh

Paragraph 1

Every second, 1 hectare of the world's rainforest is destroyed. That's equivalent
to two football fields. An area the size of New York City is lost every day. In a
year, that adds up to 31 million hectares — more than the land area of Poland.
This alarming rate of destruction has serious consequences for the environment;
scientists estimate, for example, that 137 species of plant, insect or animal
become extinct every day due to logging. In British Columbia, where, since 1990,
thirteen rainforest valleys have been clearcut, 142 species of salmon have
already become extinct, and the habitats of grizzly bears, wolves and many other
creatures are threatened. Logging, however, provides jobs, profits, taxes for the
government and cheap products of all kinds for consumers, so the government
is reluctant to restrict or control it.

Paragraph 2

Much of Canada's forestry production goes towards making pulp and paper.
According to the Canadian Pulp and Paper Association, Canada supplies 34% of
the world's wood pulp and 49% of its newsprint paper. If these paper products
could be produced in some other way, Canadian forests could be preserved.
Recently, a possible alternative way of producing paper has been suggested by
agriculturalists and environmentalists: a plant called hemp.

Paragraph 3
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VWb ) g
99 1S e L b g ally AN alladly Chasally daddiieeal) (31 9¥) Aped ullay
Qghﬂa@l\b&aﬂcb? 5_adlly
Canada supplies 34% of the world's wood pulp and 49% of its newsprint paper
G A0, €9 o AN el G Jlisadl g Al e YPrE oY) Ll

VA O
M\mwdwﬁgwéﬂ\).éﬁ\ﬁu
s gaally 339 138 Jisaadl ¢ J)ged 13gd la) 33 55 Y i La s
G siaally Ci g Al 4B B R4l e Calids Ua 4AGNAY 3 A !
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¢ aanay ) ASalY cllad) cpa liSA V4o Gu\*\ &Jes

: Every second, 1 hectare of the world's rainforest is destroyed#s¥ adaall 2 4y
Jusa Ve JAE Y ey ddliea o Lk IS Baal g Al

) less than two minutes | &Y o3

) Yo Jlsm
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Logging, however, provides jobs, profits, taxes for the government and cheap
products of all kinds for consumers, so the government is reluctant to restrict or

control it
j day

993980 Cpal ¢ AN 3 8RN A jts @3 ,920)
:2-‘.69-“
Canada supplies 34% of the world's wood pulp and 49% of its newsprint paper
o alie ) laY)
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Understanding Parts of Speech
e)&.\\ ;\}\iﬁﬂgéﬁgu}ﬁ}
(ADVERB)s_kl! (ADJECTIVE) daall (VERB) J=&l  (NOUNE) Y/

A eld o) 2ol QU & g gall (8 Juadill die Saailly a8t e sa

Understanding Parts of Speech
Verb = ( V )The action that the subject does ( present, past or future) J=4
Noun = ( N ) Might be subject or object !
Adjective= ( Adj )Describes nouns  slew¥) caal Sl o4y asall

Adverb = ( Adv )Describes verbs Jadll ot Al oa g
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it ala adle (e 3 Ak

Beauty,
beautification

Creation
Crowd
Difference
Difficulty
Efficiency

Pollution,
pollutant

prediction

Safety

solution

Ao Lol Gast

Example

a. You will succeed if you work hard. (V)

Beautify

Create

Crowd

differenhate

difficul

Jas Lel add

Pollute

Predict

Save

Solve

Worsen

Willaw il LaY succeed J=dll Liaadin) La

Beautiful

Creative

Crowded

Different

Difficult

Efficient

Aa o Lol el

Predictable

Safe/savalde

Solvable

worse

b. You will achieve the success if you work hard. ( N)
theaw il L3 success awY! Leadial s

c. You will get the successful result if you work hard. ( Adj)
successfulisall Lt g 4l dda ) Sin i result aw¥) o o L (Sl the e <l s

d. You will get the result successfully if you work hard. ( Adv))
Jadll Cacatin LY ady J) Leadia Ui

Beautifully

Creatively

crowdedly

Differently

Difficultly

Efficiently

IS EX0 ¥ ST

Predictably

Safely

= Lol sadl

wersely
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1. Solve

They are trying to find a solution (n.) to the problem of overcrowding, but this is a
difficult
problem to solve(v.).

2. Pollute
Most people know about air pollution (n) in big cities, but they're just beginning to learn
about the many pollutions (n) that we have inside buildings.

3. Crowd
There are crowds (n ) of people everywhere ; the mass-transit system is especially
crowded (ad) ).

4, Save
The city is not safe (adj) because of crime. People can’t leave their homes safely (adv)
at night, and the police can’t provide for their safety (n).

5. Beautify

Many people bring plants into their homes because the plants are beautiful (adj).
However, it's possible that these plants not only beautify (v) the environment but also
clean the air.

6. Differ

The causes of indoor air pollution differ (v) from area to area. One reason for the
difference (n) is that people hear their homes differently (adv). People in some areas
burn wood for hear; in other areas, they use something different (adj).

z ALY
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suffix Jis prefix Jl ge b s g0 o 5l
6 sinall (pa azaliall g dalia) 3 paladdb oy g le sa g

Sl g g3 juad o) ALlS)) e puadl e JA) ol Al J gl culilal o | Ll jas
disagree =i ( dis ) J) ld —ausl W agree S
38 Y (B8 (e rall i
Jauadily & g sall (o alS #

UL Lpanss o)) aakainad AN a5 prefix Jb 1l 21,
Gl Lnens of ki Lo a5 SUfix J) oo a3 &) ) Lasay o

@m A sy
The Prefix

Mﬁ\@mﬁ@;cwﬁ\@\ﬁdquﬁkw@
IS Jonitly Lo W5 1

: THE PREFIX UNYl
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Un = not
zall @.d PRERW Lfd\ Gbaldl (gaal & un J
cahl e e unkind & el s un Al L Caus Ll cadal kind e
(siis pe el unreal Gl el un e canal W Gk real Jis
Ama pe Unhappy il s un Wl e W s happy Jis

: THE PREFIX DISLt
, eal) uSe aail Al dglad eduaiDis
@ e disable ) szl it dis Wl i Wl ; gble Jbs
@il Y Wlixs disagree Lpa dis e cunai Wl G5 0 agree Jba

diss un & sbaal) LSl ey Lia

Un Dis
undo discolored
unfinished | distrust
unwell disorder
unload disapprove
unpack displease
unfit dislike
uncover discharge

disobey
disappear
disbelief
disagree

: THE PREFIX REUL

re = again
AUl ae ) =S rewrite Jual re Ll cinai Wl i s write saleY) Jmdre
ali
repaint, reappraise, reawake



: The prefix DE

Al s 5al 2o ) AGSH iaa a4l dlad Gl Ll de J)
w0 away s Jiu) down 48l Jixe (5585 (Sas
Lis), despair i , depend i, descend o=is Wlies : deduct e
Ssra gl oun o) g Jg Wl Slaa LIS

Ssra g o Saall bk Al e removal Sl o 5So Sas )
s depart s Ja: decamp ) ¢ & s (S deice ¢

. "The prefix pre"buwla

Azl o) Qllall gl Sl o) 28 gl o) g J8 a3 pre JI
Gl (xy PREFIX posil) Lie g ga (A endinn (4

Gae b i 1 precondition Je
gl Jd L bl s ss o5 Johin liked prehistoric animals , Jbs

PREJ s RE Js DE J! 4l La
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meaning meaning meaning

_down | away | Beforeintime |  Place

again -
& removal reversal Order or importance

examples examples examples
repaint defrost pre-adolescent
reappraise descend prelude
reawake despair precondition
refill depend prehistoric
replay deduct prefix
reheat de-ice premature
report decamp precaution
rearrange depart
rewrite deface
repeat deposit

. the prefix imtuala

Clee e 5 @i impolite Lo polite e ¢ (Sall araiidim
Jinivs 5 (Ses impossible S=Possible

. the prefix irtels

irregular W& regular Jie Al aaiiog
irrationalles ~Sa rational Lay!

. the prefix ink.l
ohill Ly

incorrectled zsa correct Jic
infrequentle.s 2> frequent Jie

ir, im, inJ 4%ial sac Lia

28



impossible

infrequent

impatient

Impossible
irrational

irregular

inexpensive

incorrect

Gal s

misunderstandgs i mis Jie A Slal elua
noncharacteristicsJic il 3ae 3 lge2iiui non Lay

sada laa las lale | cpiib o3 ) e prefix J) ge Sl Gy <l jalls ¢ 05 71
ledaga e Y ¢ 4l S iial) prefix J) S caS sacl aa 5 Y
Al e 3 gai Glile ) paiul Lgle et 5l culalS aadiis olil
Lle J g4 aS) ynagree o s ¢ b a leY) disagree Sis

LS Akl 0 a4 PREFIXJ) sa ool o il Al

Vol Jse

PREFIX e (s siad 4l il e 52al 5 J i
faday) daial g

43J) 3

PREFIX :J) &Ll el I Polite 2l e i (i



. impolitex 4.
politeas 23303 ¥ DIS, IN, UN 4stll sy

47J) s

PREFIX :J) 4ilal leuSe I Possible 4alSl e i ol
imea G T aay)
possibleuse aimpossible
possiblegs a2a5.8 Y (5 AY) Syl

°°dbw

PREFIX :J) 4Ll asi I regular 4l s
irea G Ay
regulard &irregular

65J) 5

prefix :J 4zl kuse N agreement
disirs 21 sl
disagreement _u<i

&&&&&
prefixd (e lewli Loy 4l JS 48 jaa (e Y 48 Jaadl dpalal) ALY YA (e
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The suffix
Laline ol AalSl g g5 il 4adSh) Al 8 G de sene | GBSl A

readinglslsl a5 suffix J s 1AW e Jl g s
3o Aileladiul g Jle D GldS e Jass ALK e suffixes Liacal 121 BY alalls
4 i) Gl ¢ sana (10 %Y Jiai suffixes g sad S Gl
AR Basa el 5 ana LS 2 jaad Jlaal) e Led oS ol ) 3 Ton Faga Ledlalatind 5 3 sl o2a 48 jaad

le s suffixes J) gl s3SI s ()Y)

-1-
-able, ible = can be done : doable
affordable , doabledis 5 28l lat o8 4kl d3les & il 1dable
(ad; )m‘;\ <) dﬁs‘;‘w

-2-
-al, 1al = has property of : personal
national, personaldis 4.8klL 3135 (ad)) A S Jsasal

-3-
-ed* = past verb : turned

fas 3, Lgifial 5 aalal) ) 3K J gas 30le ed

-4-
-en = made of : golden

eUadl L Jaant Y Led €5l e 2 Y sdaen
oaii s 54 wooden g=i wood sl 2 golden gas gold Jic (uswas 4 N en J) il 1Y
ain adj S A

ALl oary ) cadnal 13 verh J2d ALK J et (Sae en JI oS
Jad a5 U el 3 5 Ua widen sl en L Ldal 1 s e wide Jis
& s 32 3 Ua worsen e en L Laal 13 ¢ w worse !
pxdl mual ) aay a5 SOften meal en el Ll 131 soft )

Jab o) dia 1) AN Jga3 (Sae en J) 1



-5-
-er = comparative : higher
smaller, bigger, fasterdic 43 laal & a0dius er JI

-6-
—er = one who : doer, actor

&l farmer sl er W canai Wl & ) 5 farm Jie Jzdll Jady ol adis Lay er J)
n(w\mg:aj

-7-
—est = superlative : best, biggest

smallest, widest, highests S il § Juadill delua 4

-8-
—ful = full of : careful, joyful

full Of a4 5 ad] 4ball Cdle (g 4adle A
AL e full of joy ! joyful zuss ful el canai Wl (el 5l = 53 il joy S

-9-
—ic = having property of : linguistic

GllL Blady o 25 a8 linguistic Jie ASLall 3 g2t Liay)
A_LAadj ) 4Kl d;;zgzj

-10-
—ing* = present participle : running

5 S Leilial y yatinal \&JLMJ' \}&w\wjgdwwg;em'“Q\;PY\ﬁM\QJA\ingd\

-11-
—(t)ion = act, process : action

PO | EONIN N PEN P YN o VRGPS O
JWE) Jaas n sl ) & s completion st ion W sl W S complete s

-12-
—(i)ty = state of : infinity, sanity
regularity z=<=i regular Jis au¥) Gladle (0 A

-13-
—(t)ive = adjective : motive, votive

expensive Ji 4ba N ALKl s



-14-
—less = without : fearless, careless

Adia ALl yaad a5 s
paperless, careless, worthlessJis 5 S Lgilil

-15-
—ly* = having : quickly, quietly

AalS Y Caual 13 adverb <o bl s juaal) 4adlall
slowly, monthly, specially 558 il

-16-
—ment = action, process : enjoyment

o) I Al Cilas
government, placement, developmentdJic

17-
—ness = state of : kindness

ol A adall jusal Caliad Layl .
sadness, happiness, shortnessJis

-18-
—0ous = having : joyous, religious

dda ALKl s
danger, space slew¥! ) ous 4dlal 2y il Glia LIS jlad 5 «ul s dangerous, spacious Jie

-109-
—s* = more than one : books
pens, chairs, tablesdic gaall ail andl Ciliai gl a5 2e 5 J)

-20-
—y = having : happy, windy

dirty, sleepy, cloudys =S ilisl 5 adj 4ia Jl 4dle

Cpll (amy (g ginie (Y15 suffixes J) o eda

33
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Circle the symbol of the correct answer a, b, c or d
1. One of the following words begins with a prefix
a. understand b. university
C. unique d. unimportant

2. We change the meaning of the word “ possible” into its opposite by adding the prefix
a. Dis- b. in
C.im d. un

3. To change the word “ hope” into adjective form, we add the suffix

a. Ful b. ly
c. ation d. al
4. We add the suffix “ " to the word” apology” to to change it into verb
a. ation b. ese
c. ize d. cal

5. The part of speech of the word” enthusiastically” is

a. Adv b.N
c.V d. Adj
6. We change the meaning of the word “ patient” into its opposite by adding the prefix
a. Dis- b.in
C.im d. un

7. The word “ soften” is

a. A verb b. a noun
c. an adjective d. an adverb
8. We add the prefix * " to the word” rational” to change it into its positive meaning
a. ation b.ir
c. ize d. cal

Jada lind g 3ae 8 Led Lo oLl LB La i g ¢ 3 1o (5 sinally (5 53 ) aliia) llia
prefixesd) s) suffixes d! (e lexe (o2 Uliss 4alS IS o il 4 jlaa
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suffixesd) Jss ol s oalall o jill ALl 800 )

) Jl s
4

vdad muail individual 4els] 4duzms o3 suffix J) sale
izez Y
individualize4alSll zuas g

ind e Jlgmd) 35S a5Y

Leilgd ) Al Al 8 adla¥) o ms (liile prefix o) suffix Jsd) 8 cllay s J5Y)
O 153 e s Y Jasad e Jlpad) b agllay Lo G

Jad AN B sy sUffix s Galad) ) sally SUiad
dad o llaall g and ALK 525 LY 5 5dle laasius gtion o | 4laY
Sal Al Lide @ e Le 538 5 cal @ 4laY)
Lale & je e Layl ese 2 4laY)
Lemsmaall o Jub IS a3 b 5 7€ ¢ AdaYU

4a muail thought 2eISU aduzas 3 suffix J W

aba by 5 3a o suffix il 13
thoughtfull 4ia I 4l Jsa3 L3 dagaiall oo ful | 4daY!
advbll aaans LY Bkl Jy o 4.y
Nas aadins 3klA tion z 4laY)
Uas ) 5S58 thought ae canlinn ¥ LSl cliva ) clalSl) J sas gl s
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M\}Q_\.md\ gﬂ\‘)d\}:\éﬂ—
Recognizing Cause & Effect

A el ALY o e glal) Al
INFORMATION QUESTIONS

Recognizing Cause & Effect
AV e Ladaal andy 3 g ¢ dais S 5 caan Ladaad) ¢ 8l (e (0 5SE Jaall (any

%@J\Causez is the reason
aaall o iWEffect= is the result

JEa

Salim didn’t come to university. He was very sick.

Effect Cause

caliall Tyl )

cause or reason wull (gaai d5lc Because, as, since

effect or result axuiJl s 65lc As a result, therefore , consequently, so

Ot

Salim didn’t come (because/as/since) he was very sick -
Yl (U2 ye OIS 58 4001 Alaad) b ela canall s daiill il 36V Alaad) ¢ g ol Gl
as, because, sincewud! bl 5y 2l Cull J8 auaid

Because/Since/As) Salim was sick, he didn't come)
alals aumi add | J V1 Jliadly LeSé oW1 alead) J8 Jaol 5l s g o sllae g dagiill e Cand) i Ui
AUl aleall g8

Salim was very sick. (Therefore/ So/ As a result/ Consequently), he didn't come.
oY) Aaall (undl) Loay e S Al

Aagiill Jay) 5y an) 4l aleal) J8 Uinaa b ¢ 4l Aleall (Aagill) joany ol 5

cause & effect Jl ge (oalall o il Hlialy <y g Sl ALY aa) 3 GY)

Yoo ¥E oYY ALY S Al 1 g g gall 138 e s Cua
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RUITYY A IV RCH PSR ¢ Caca ) 4y pal) Gl gaall e Jilad Bac
- sincew s 5 ) Jail 5 aal aadiiid oW aleall Gl culS 4l deal)
Na 23 SiNCE < Sl Y] Capai s (Kaa
LGl Canl da e a1l Al Gl gl e Jiliad 3ac
Al dagi | consequently < | so <Al therefore dauill Guud LIS 4l Sy

34
4 oSail) A e 3 Y AaSall ¢ ALYl g cailla gl 8 g QLEAY) adad
oY) aleall J Lol )l e g o sllae
o) gl 5 2] it ¢ A Aleal) s 1Y) Alealls
- since? Asssall 4Y)

35
LAY el Aalal) (i 5 sl i b pi (Kan udial
Al Ll 2T ¢ CLIAY) ai) dalal) (U5 il 5 ¢ sl 8 U ) L1531 Alasl
A Jal 5 ) aglS 5 irall i agd OY - SO @ sl therefore | osS5 (Sae 4laY)
Nea Gaila) S

Cundl gl 5 o Y asd Lo 4 saY) (g cun Lol LY because 2 eyl oS8 S
DY) il Aalall Jliy 38 43 (3 5l) iam  pddiay (Sae Ghdal) 1 el ()5S e
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£dV) (e ) dclin b addion o (Sae ¢ adlaladinl aaed A e g ) Gladall
ailaladin daedl ) 5 ) Aaiil) ) Gl e 5 Gladiall ¢ saal g alea 3 ogllas Lol ) Uia
s AY) Sl saal s Sl aal
e aa b daaall La - because of |
Lot 050 Ugd | alen e e a Gl s alalS alea o3 58 2 Y oK)l Ll Lia- because <
j\i,al...d\ 5 aaly AN 23Sl Lusi- since ¢
Waa | daaill k13- gs a result 2
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| sicgd La 3 pa 131 Y A& yhall ) saaindy
4claia) clalll sociolinguistics (s

Jas AT BIS) s L ¢ o s lgeada b gl
) g BIS) daiall 5 cad) JgY)
- as a result | ixgill Lyl ariioss

‘;ﬁ\]\ ¢yl Caval @\J S
information questions

Information Questions
Ul V) 22e & guagall 18 o)y alall | Olajall e j08 pS) aaal dia i 4dd g e g g gall B g

A 55 peally 4K gl
Information Questions

I S e

EWho ©&#- Person oalasd j Who is in the car? _Reena
2 Where ‘&' Place olsa j Where is the book? — on the table
3 @hen ¢ Time iy j When did you arrive? — At 12 o’clock
4 Why i Reason G Why will you leave? - Because/ | feel sick
5 Whose ¢¢«  Owner iLal) Whose car is that/ - its Fawaz’s
6 Which <51 Choice Sl j Which lecture do you prefer? — English one.
7 @hat ¢l Eventorthing s a3 "9 What did he say? — He would not come to the party
8 [How i< Situation and caseisiala] How is your study? — It's good
9 l How ofzge;\# A Number of times =il ml How often do Muslims pray a day? — Five times
10 HO\:/ I'on.g;"‘35 i Period Sl (e 358 How long does it take you to arrive? — 2 hours
11 Gw far “** distance il j How far is the university from your house? — 15 Kms.

Gaiall Jlaall i cilS ¢ 3 sl e lad Hhi o slhalle
O ipal) v i) el AT 5 Jlsad) eldany ¢ (uSall Blal

JUA|
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Circle the most suitable answer a, b, ¢ or d for each of the following

1. was the reason of the car accident? — It was the very high speed.
A. Why B. Where C. What D. How

Could you please tell me will be the final test ? - Next Monday.
. Where B. When C. How D. Who

>N

do you eat a day? - Only twice.
. How far B. How long C. How often D. How

> w

How long did it take you to finish doing the homework? -
. Three kilometers B. Two hours C. Four children D. Yesterday

> &

is knocking at the door? __ It is Rami
. How B. When C. Why D. Who

> o

| really don’t know the football match begins.
. when b. who C. what D. whose

>

How Is the hospital from the police station? _ Three kms.
. long B. often C. much D. far

> N

did she say? — Nothing
. Who B. Why C. What D. When

> ©

9. | need your help please. | don’t know to start this machine.
A. who B. how C. what D. whose

10. house is that beautiful one? — Its mine
A. Who B. What C. Whose D. Where

11. colour do you prefer Aysha ? — The red one
A. Which B. Who C. When D. how

12. How are you Abdullah? _ 178 cm
A. long B. tall C. far D. old
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VY SYY - )Y Al SEIS Jlg VY 23e palal) o il Lials il LS & gia gall 138 (e 2

11

........

Aaldll Jaly (¢ gadd e sl Y- who > T4y

12
CiSall A gUa e 99 AUl
¢ zlgall ) ¢ Gl e JIsadl Y- where 2 4lsY)

13
MY Jhae $alias

¢ Ciliay S ¢ el g Jsadl- when > 2 a4l

oY 48 (3o AlisY!
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G e Sl pmdl SY 98 oS Cage L,
becausew iy 4a¥) i jldl s ¢ sl e J) )
- whyz 4

49
s laiY) 88 Juaiii Juad
Jiall J gaadll () HLEA) 4 & guin sall
- whichz 4ay!

50

Labldl) u.u‘).ﬁdl‘;ﬁ e lE L
- what2 4y
51

IEENE-RTENR S ) DA N
- how! 4.y
52

Gl e et 0 Lia g (o shoan salsall
- how oftengz «&Y!

56 - 57- 584L.Y)

56
end Ll 895 i el
- whosegz 4lsY)

57
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- how long— .Y

58
) yiasl€ 17 ¢ iy (e Jsall oL,
- how far2 4.kY)
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Al Lgle 5 36] 8 adal 3 pilall g daalill (45 pualaall

g sl 7 83 )5 pde Laall s by
COUNTABLE AND UNCOUNTABLE NOUNS
D glza )—"-MJ J}JMJ‘

__Q\JA e a\.h.u)q &}\.A}J\
G S il ) jae (B35 g s sall Gl
U (sin ¥l (g0 s salll € i) e 355 b da i s
http://www.ckfu.org/vb/8638082-postl11.html

) sale V) g Al b e da i

COUNTABLE NOUNS 323 sasall elan¥) | Y
‘oalbad sae Ll

ke 5l gan 0585 ) Sael -
: OOk — bOOKSUie pan (a3 (San s 3 sia o (San 3 sanall iny

Countable nouns can be singular or plural
My dog is playing.

My dogs are hungry.

| have got one egg.

| have got two eggs.

a, an » Sl article J) 4w Sae 3 jie YIS 131 3 g2 li2-
We can use the indefinite article a/an with countable nouns

A dog is an animal.
I’m waiting for a bus.
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a, an, the, my, thisJis alé il PNRENV TR T) Rt 3 gazall S 13

alia]

When a countable noun is singular, we must use a word like a/the/my/this with it:
| want an orange. (not | want orange.)

Where is my bottle? (not Where is bottle?)

Ay 5 sl 5 ¢ oan sl dadding (San pan OIS 13T 3 s00alI3-
When a countable noun is plural, we can use it alone
| like oranges.

Bottles can break.

few & a fewpiuw dlXS s some & any 253l ge a2iuig-

Sl Jsadl & aassus gny J)
dgazall e aa lgadding (S SOME & ANY

4lia)

We can use some and any with countable and uncountable nouns
I've got some dollars.

Have you got any pens?

» Some people arrived.

* | bought some milk.

* Did you meet any friends in the city?

* | didn’t have any water.

We can use a few and many with plural countable nouns
I've got a few dollars.

I've got a few friends.

| haven't got many pens.

They haven’t got many friends.

personta yia g Cila gazall (30 yiias people 4alS5-
"People” is countable. "People" is the plural of "person”. We can count people:

There is one person here.
There are three people here.

B gyl sl - Lol
Uncountable Nouns

L Lic o Lnan (S Y Le (A 035300 il
watersWll srice HoY) Jie

Unlike Countable nouns, which can be counted, Uncountable nouns are substances,
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concepts

etc that we cannot divide into separate elements. We cannot "count” them. For
example, we

cannot count "milk". We can count "bottles of milk" or "litres of milk", but we cannot
count "milk

Here are some more uncountable nouns:

music, art, love, happiness

advice, information, news

furniture, luggage

rice, sugar, butter, water

electricity, gas, power

money, currency

S el Al Aals (e 33 sama ) eland) ae Jalats Wil s Jas dagall eludY) (g

We usually treat uncountable nouns as singular. We use a singular verb. For example
This news is very important.

Your luggage looks heavy.

bl (g adiid die ¢ jad el of L) 131 W) 3522 ) ae article J) pasius Y

Jia

a piece of news

a bottle of water

a grain of rice

Lalize s Ba gaza 1€ 553 saza () S0 glaw) (az

Nouns that can be Countable and Uncountable

Sometimes, the same noun can be countable and uncountable, often with a change of
meaning

Drinks (coffee, water, orange juice) are usually uncountable. But if we are thinking of a
cup or a glass, we can say (in a restaurant, for example):

Two teas and one coffee please.

Agdra yae g3 g0l aadud Al Gl amy 4y Jgas Lia
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Nouns that can be Countable and Uncountable
Sometimes, the same noun can be countable and uncountable, often with a change of meaning

Countable Uncountable
There are two hairs in my coffee! hair I don't have much hair.
There are two lights in our bedroom. light Close the curtain. There's too much light!
Shhhhh! | thought | heard a noise. noise e d|ff|a-1It TR TR AR

much noise.

Have you got a paper to read? (= — I want to draw a picture. Have you got
newspaper) pap some paper?
Our house has seven rooms. room Is there robm for me to sit here?
We had a great time at the party. time Have you got time for a coffee?
Macbeth is one of Shakespeare's work | have no money. | need work!

greatest works.

3500l LS ANy 5 SOME Liasl 2 gana i) e i (Saa

We can use some and any with uncountable nouns
I've got some money.

Have you got any rice?

2500 ull aa @ little, much aladiul (S LS

We can use a little and much with uncountable nouns
I've got a little money.

| haven't got much rice.

I've got a little milk.

We haven't got much time

25224l xa s hOW Many s 2seall e xe how much aasius Jisadl &

HOW MANY OR HOW MUCH

how many books are there on the desk?

how much water is there in the glass?

how many computers are there in the laboratory?
how many mistakes are there in your exam?
how much sugar is there on the floor?

how many triangles did you bring?

how many bones do we have?

how many students are there in the classroom?
how many credit cards do you have?

how much money did you ask?

Sals 3 ladae 2garall e g2 gaeall e ol ol Lsa) Al
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353 e il Jla jtems of luggage Ll ela W (S ¢ 2sma je el 4aial luggage of ge
ehal Al AxieY) adad 22e oS
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0-
Asda pe iy Cd time
ddapsall eVl o4 s much 4xe aaAts

10-
many! <Y
piles of billions of dollars W Y
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Comparative & Superlative
Sl s IV (s siaally S Aaladl Al 5ol Ja) je JA @l e Bae L) )3 a5 Axdl) bl (e A

dﬁa\ﬂ\uaud;c,q)haﬁab C)Cﬁ\ sale Ly 6)51'“
& suasall i Jsa oazalall o il lia) Al s 3alallS o

Comparative
Crfind gl (ot o Al bl ga
e J s
Mohammed is taller than Al
Our class is bigger than yours.
My father's car is more modern than your car.

comparative J) 4uS i o a3l
Jel@iSubject
+
)Wl s s, are (acbuwe J=é
+
Y= 8 =1 more () erled cailias adall
+
Than
+
DAY Jelal)

Superlative
c«t.hﬂ }i ua\a.ﬁzib.lc‘;s c‘;ﬁ:jiuaa.&d:\msﬂ&_\}xu\}@

Jie
Mohammed is the tallest
My class is the biggest
My car is the most modern
MOs MOre axiud Jies est J) sl er J) Gl e Cojei (aS s agall Jlsall
sy Jsaall s
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Rules at a Glance

Adjective form

Comparative

Superlative

Only one syllable, with more than
one vowel or more than one
consonant at the end. Examples:
light, neat, fast, tall, neat, deep

Add -er:
lighter, neater, faster, taller,
neater, deeper

Add -est:
lightest, neatest, fastest, taliest.
neatest, deepest

Only one syllable, ending in E.
Examples:
wide, fine, cute

Add -r:
wider, finer, cuter

Add -st:
widest, finest, cutest

Only one syllable, with one vowel
and one consonant at the end.
Examples:

hot, big, fat, sad

Double the consenant, and add -
er:
hotter, bigger, fatter, sadder

Double the consonant, and add -
est:
hottest, biggest, fattest, saddest

Two syllables, ending in Y.
Examples:
happy, silly, lonely, jolly

two syllable word ending a vowel-
sound that is not stressed
yvellow, simple

Change y to i, then add -er:
happier, sillier, lonelier, jollier

Add -er:

yellower, simpler

Change y to i, then add -est:
happiest, silliest, loneliest, jolliest

Add -est:
yellower, simpler

Two syllables or more, not ending
in Y. Examples:
modern, interesting, beautiful,

Use more before the adjective:
more modern, more interesting,
more beautiful

Use most before the adjective:
most modern, most interesting,
most beautiful

w#\w\w@ﬁjsyllablew\g&q}dqm
Py Sl s hap cpabis Ld 532 happy 4.IS s

ahie (e L oS heautiful 4SS

1- Beau 2-ti 3 — ful

A€l 3ty Jail adaia (he Lud oS A€l iy (S

Al ae ) i) Babai o ada oS o gl Aglaily o 330
Juaiill @t 543 )ial er L) Canai @ Cul 4l 4lgi s a5 alai daall il 131 Vo

tallest s taller mu<=5 tall i«

Joaiill @5t 5 4 jlaall Jaih 1 el Cinmi @ Cia 4l Al g aal 5 adie dbiall il 1) Lo U

widest s wider zu=i wide Jie

a, €, U, 0, i4uad b s a5 vowel LYl Ji i ally aal s adaie adall culs 131 LG

ests) er canai o (Jn) 45 e Al o all Caas

hottests hotter zusi hot Jie

ests) er Ciwai i 'y J Gl y a1 Goally ( sea e (e 4diall i€ 13 Lo
happiests happier z»<i happy Jie
funniests funnier zu<i funny Jis

the 5 More 4iall Jd Canati y Gl a1 Gojally S8 5l cli sen pnlabe o 480 il 1Y 2 Lo (5

most



the most beautiful s more beautiful =<5 beautiful Jie
the most moderns more modern zx<=i modern >«

A0 Jglaall b apalall sl gl Lle 3uais Y o3LE cilia ollia ;L L

Irrecular Adverbs

Word Comparative Superiative
badly worse worst

much more most

little less least

much more most

well better best

Irregular Adjectives

YWord Comparative Superiative
good better best

bad worse worst

much more most

little less least

far farther farthest

ota b Sigs=:

s alla¥) (e Jas oY)
Let’'s Start Exercising

1. The weather in winter is than it is in summer

A. colder B. cold

C. coldest D. the coldest
2. | have money than you do
A. much B. more

C. most D. least

3. Abdullah is of all boys
A. the fastest B. the most fastest
C. fast D. faster

1. What is the comparative of "sad"?

1. Sader 2. sadder

3. Sadier 4. saddier

2. What is the comparative of "destructive"?

1. Destructive
3. Destructivier

2. more destructive
4. more destructiver

50
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3. What is the superlative of "soft"?

1. Softest 2. softiest
3. Softest 4. most soft
4. What is the comparative of "hot"?
1. Hoter 2. hotter
3. Hottest 4. hottest
1-20) sl il 1§ g gall 13 (e bl oyl L) Al

the tallestz dsall 4laYI1-

easier thane aaasall 4layI2-
oy Jl sl

farthest « 4asasall alay)
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faster thane 4l 41!

11 Jlpd

most polluted 2 4aY)

A Ul

smaller thane 4.y
e alll) 3 ypalaall Lugd) <0 180
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